N = 0l & AF & F Al A

=1
2D AFY A= AE23 =4
SEN0 fAHASS e (chol: 72
o (S H) - MRAMY - B Arol p/E-T" HRE2
511,033 253,734 257,299
=2 0 113,131 A 113,131
3 91,900 0 91,900
Al 168,000 0 168,000
2 251,133 140,603 110,530
2T AZN Y= AE2 X4 296,583 157,419 139, 164
= 0 113,131 A113,131
3 91,900 0 91,900
Al 168,000 0 168,000
2 36,683 44,288 A7,605
Mol PHAES B 965 1,365 400
PSS MY L ORI A 22l 965 1,365 A400
201 Y2 gy| 965 1,365 400
01 AtR2elt| 965 1,365 A400
O/AYASS HINZY AXNE ZF 400,008 400 800 A400
Metpeio aigst e 104,602 130,890 126,288
= 0 113,131 A113,131
=l 91,900 0 91,900
2 12,702 17,759 ~5,057
2RE T el (K) 13,900 0 13,900
Z 13,900 0 13,900
201 Y2 Y| 4,500 0 4,500
= 4,500 0 4,500
01 AtR2elt] 4,500 0 4,500
OMLRE RS B2l ARBE S(HEH) 2,400 0 2,400
3 2,400 0 2,400
OMNLRB P EAL PR AL (SBH)
7,0002 *6% *502 2,100 0 2,100
3 2,100 0 2,100
202 01t 8,400 0 8,400
= 8,400 0 8,400
01 =Ujotbl 8,400 0 8,400
OMZRERS Bl RUHOHI(LYR)
20,0002 62 *35] 102 3,600 0 3,600
3 3,600 0 3,600
OMRIS 7 2elNRA(HY) 2UH0H(SE
&) 20,0008 %22 *123/ %102 4,800 0 4,800
2 4,800 0 4,800
405 XtarF S| 1,000 0 1,000
3 1,000 0 1,000
01 XYL SEFH S| 1,000 0 1,000
OHOINTRIE (HEH) 1,000,000 *1CH 1,000 0 1,000
3 1,000 0 1,000
SRlst R 2ol 4,036 5,186 A1,150




SN ASD
y: ZHT AW %= AE2E T4

Sl jEXE RO R B (e
SN EB -GS - MBAY - BES 0 & 24 p/E-T" {imE=Eh
201 Yer2 YY) 4,036 5,186 A1, 150
01 AtR2elt| 500 900 A400
OMLRERS W 2ASS EHZY Y2
2 400,008 400 800 £400
02 B2 3,536 4,286 AT50
OMLHB 7Y =20y 2HHE
A3 150,008 150 500 A350
OMLHE RS &2 KIS
24T 246,008 246 646 £400
MRS DA MeHERE 86,666 125,704 £39,038
= 0 113,131 A 113,131
=l 78,000 0 78,000
2 8,666 12,573 A3,907
301 YBrBAZ 86,666 125,704 139,038
= 0 113,131 A113,131
3 78,000 0 78,000
2 8,666 12,573 A3,907
12 JIEt2 &S 86,666 125,704 139,038
OMLHE R MBHISBEAY
247 86,666,000 86,666 125,704 £39,038
= 0 113,131 A113,131
3 78,000 0 78,000
2 8,666 12,573 A3,907
Agst AEHT =2 12,871 13,937 A1,066
ASSIAE L 2UI} AASIRE 29 2,870 3,710 A840
201 Yer2g| 2,870 3,710 A840
01 AtR2elt] 2,870 3,710 £840
OAZSIVE SIEA 2 2H 1,890,008 1,890 2,730 £840
ABE AEYS =X 2,034 2,260 ~226
203 HRFY| 2,034 2,260 ~226
03 AIBZZHRETY| 2,034 2,260 ~226
OAEYR =& 23 900,0002 900 1,000 A100
OMZT AZY IS 98t T/FY 283 =
&l 2 1,134,0002 1,134 1,260 A126
A FHHIFUIAY =& 178,145 11,227 166,918
Al 168,000 0 168,000
2 10, 145 11,227 A1,082
N2ATS SAWEHSTAY X2 22 9,245 10,227 £982
201 Yer2 ) 7,250 8,185 £935
01 AtR22lt] 6,116 6,925 £809
Osi4or JI= 24T 950,4002 951 1,000 ~49
OZgH EH 7Y A4 864,6002 865 1,225 A360




SN ASD
o 2R AZY L= AESS X4
Sl REE FHHBAIUIAY F7 SRE
SN-EHH . SH(BH) - HPAY - BE2 Ao 2
OE2% 29 L7222 (F4 HIISE S)
29 A 80,0002 800 1,200 £400
2 222 1,134 1,260 A126
OUBH(E2T LHey) A 474,0002 474 600 A126
401 AIZHIL 2O % 100 A5
01 Al % 100 A5
0222 N3 & A 95,0008 % 100 A5
405 THAHFSH] 1,900 1,942 A8
01 RMUSEHSH| 1,900 1,942 A4
OARA Wired| &x| 2 1,100,002 1,100 1,142 A8
ALS HEIRYS EXY| 900 1,000 A100
203 PR ETY| 900 1,000 A100
03 AlMEZAR=TY| 900 1,000 A100
OnElR2Ad gexa 24 900,0002 900 1,000 A100
HU(ME)TY W =2AS2 BIFUIAY 100,000 0 100,000
Al 100,000 0 100,000
401 AlZHIL 2T 100,000 0 100,000
Al 100,000 0 100,000
01 Al 100,000 0 100,000
OLsARE B4 100,000 0 100,000
Al 100,000 0 100,000
HUI(MIE)TY W B2 FHIAY 68,000 0 68,000
Al 68,000 0 68,000
401 AIZHIL 2O 68,000 0 68,000
Al 68,000 0 68,000
01 Al 68,000 0 68,000
OFHI(MZ) T B, 20 88X % 2XF2(
HEH) 68,000 0 68,000
Al 68,000 0 68,000
HHSHFY(ASD) 94,939 %.315 A1,376
o2y 3,780 4,200 ~420
ol 2yl 3,780 4,200 A420
203 PR =Y 3,780 4,200 A420
04 EASHAREY] 3,780 4,200 A420
ORASgAREwY) 2 3,780,002 3,780 4,200 A420
p[CET 91,159 2,115 £956
2 91,159 2,115 £956
201 L2y 12,117 3,005 £888
01 ALR eIt 12,117 13,005 888
O=A8X 7Y 1,116 1,407 2291
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